FIBERE 2% | & | BF | 11~125% | 100mfEAX kL — |'1:45.72
il JIN 2% | & | BF | 11~127% | 100mEAX FL— |'1:31.73
=1 RN 2% | & | BF | 11~127% | 100mEAX F L — |'1:42.50
BTFH FBX 2% | & | F | 11~125% | 100mEAX KL — |'1:42.45
IR REE 2% | B | F | 11~127% | 100mEAX FL— |'1:32.13
IR A 28k | & | F | 11~125% | 100mfEAX KL — |'1:37.45
e BX 2% | B | BF | 11~127% | 100mEAX KL — | '1:40.44
BE BRE 2% | & | F | 11~125% | 100mEAX L — |'1:27.95
Pl R 2% | B | F | 11~127% | 100mEAX FL— |'1:24.70
EHERT 2% | B | F | 11~127% | 100mEAX KL — |'1:30.66
TBH =& 2% | & | F | 11~125% | 100mfEAX kL — |'1:34.55
Ea = 26k | B | &F | 11~127% | 100mEAX FL — |'1:35.90
AR BAF 2% | & | F | 11~125% | 100mEAX KL — |'1:38.96
M BE 2% | & | F | 11~127% | 100mEAX KL — |'1:23.51
E KE 2% | & | F | 11~127% | 100mEAX FL— |'1:26.31
ENAETF 2% | & | F | 11~125% | 100mEAX FL— |'1:27.17
RKE KH 26k | & | F | 11~125% | 100mEAX KL — |'1:23.40
IR i3 2% | & | F | 11~127% | 100mEAX KL — |'1:23.51
NHBRTEF] 2% | & | F | 11~127% | 100mEAX KL — |'1:26.67
B\BA E 26k | & | F | 11~125% | 100mEAX KL — |'1:23.08
R OALE 26k | B | F | 11~127% | 100mEAX KL — |'1:25.83
BE  #E% 26k | B | F | 11~125% | 100mEAX KL — |'1:25.73
BE F 26k | B | F | 11~125% | 100mEAX KL — |'1:30.99
EH R 26k | & | TF | 11~127% | 100mEAX KL — |'1:28.94
PR EHE 26k | & | F | 11~12/% | 100mEAX KL — |'1:19.86
mA 26k | B | F | 11~127% | 100mEAX KL — |'1:16.43
KA 26k | B | F | 11~125% | 100mEAX KL — |'1:17.33
B BEE 26k | B | F | 11~125% | 100mEAX KL — |'1:22.39
L AE S 2% | B | TF | 11~125% | 100mEAX KL — |'1:21.18
&R & 2% | B | F | 11~125% | 100mEAX KL — |'1:20.41
aH NE 2f% | B | &F | 11~125% | 100mEAX KL — |'1:21.20
== 26k | B | TF | 11~125% | 100mEAX KL — |'1:26.97
T BRE 26k | B | F | 11~125% | 100mEAX KL — |'1:16.86
B BAtEE 2% | B | F | 11~125% | 100mfEAX KL — |'1:24.55
B KX 26k | B | &F | 11~125% | 100mfEA X L — |'1:19.92
Mt A 28k | &% | &F | 11~125% | 100mfEA X kL — |'1:21.27
ME X 28k | A& | &F | 11~125% | 100mfEAX F L — |'1:15.55
RE B 2k | & | BT | 11~127% | 100mEAX KL — |'1:18.14




EBE R 2k | & | BF | 11~125% | 100mEAX L — |'1:17.52
Mg Z 72 & 2% | & | BF | 11~127% | 100mEAX KL — |'1:18.61
SEIMEL 2% | & | BF | 11~125% | 100mfEAX kL — |'1:18.45
Bl A& 2k | B | BF | 11~127% | 100mEAX KL — |'1:21.84
RIER  EHE 2% | & | BF | 11~127% | 100mEAX FL— |'1:21.11
NR B 2% | B | BF | 11~127% | 100mEAX FL— |'1:17.84
= == 2% | & | F | 11~127% | 100mEAX FL — |'1:19.36
RiZE FHiS 2k | B | BF | 11~127% | 100mEAX KL — |'1:15.34
MRS <5 2% | B | BF | 11~127% | 100mEAX FL — |'1:16.36
g =Rk 2% | & | F | 11~125% | 100mfEAX kL — |'1:15.25
ILNEFRER 2% | B | F | 11~127% | 100mEAX FL— |'1:14.76
Ei wE 2% | & | F | 11~127% | 100mEAX FL — |'1:13.06
R EE 2% | & | F | 11~125% | 100mEAX FL — |'1:15.40
K= Py 26k | B | F | 11~125% | 100mEAX FL— |'1:12.79
2R = 2% | & | F | 11~125% | 100mfEAX KL — |'1:18.08
EBE ER 2% | B | F | 11~127% | 100mEAX FL — |'1:24.23
=AM 2% | & | F | 11~125% | 100mEAX FL — |'1:31.80
S HF 2% | B | F | 11~127% | 100mEAX FL— |'1:23.11
FH ZF=x 26k | & | F | 11~127% | 100mEAX FL — |'1:16.46
S L 26k | & | F | 11~127% | 100mEAX FL — |'1:31.39
WE KRR 26k | B | F | 11~127% | 100mEAX KL — |'1:24.09
IR OBER 26k | B | F | 11~125% | 100mEAX FL— |'1:22.16
AN Bt 26k | & | ZF | 11~125% | 100mEAX KL — |'1:22.52
EAR EZ 2% | & | F | 11~125% | 100mEAX KL — |'1:31.83
S Pt 2% | B | F | 11~127% | 100mEAX KL — |'1:32.69
At = 26k | &1 | F | 11~127% | 100mfEAX KL — |'1:25.81
RKE &1t 26k | & | &F | 11~125% | 100mfEAX KL — |'1:13.85
IR R 2% | & | TF | 11~127% | 100mEAX KL — |'1:25.84
SEBR/NE 2#% | B | TF | 11~125% | 100mEAX KL — |'1:26.57
ML =B 26k | B | ZF | 11~125% | 100mBAX KL — |'1:27.12
il AR 26k | & | F | 11~125% | 100mEAX KL — |'1:27.00
VAN AR O/ F 2#% | B | F | 11~125% | 100mEAX KL — |'1:25.36
=E EfE 26k | B | F | 11~125% | 100mEAX KL — |'1:24.29
g 26k | B | TF | 11~125% | 100mEAX KL — |'1:22.33
HE 75 2f% | B | TF | 11~125% | 100mEAX KL — |'1:30.40
S BR 26k | B | TF | 11~12/% | 100mEAX KL — |'1:15.43
IR (=2} 2% | &8 | ¥ | 11~125% | 100mEAX FL— ['1:22.24
JNE /B 2%k | B8 | wF | 11~125% | 100mfEAX kL — |'1:23.30
EY == 2%k | B8 | wF | 11~125% | 100mfEAX kL — |'1:19.49




Bt #A 2% | & | F | 11~127% | 100mEAX FL— |'1:17.28
EH X7 2% | & | BF | 11~125% | 100mEAX kL — |'1:26.92
Hd HE 2% | & | BF | 11~127% | 100mEAX KL — |'1:21.43
AEID IS ES 2% | & | F | 11~127% | 100mEAX FL— |'1:17.46
latic:s £ 2% | & | F | 11~125% | 100mfEAX L — |'1:13.65
AR E3F 2% | & | F | 11~127% | 100mEAX FL— |'1:20.49
R DOLE 28k | B | F | 11~127% | 100mEAX FL — |'1:15.49
AR DA 2% | & | F | 11~125% | 100mfEAX KL — |'1:13.05
AT £ 2% | &1 | F | 11~127% | 100mEAX FL— |'1:16.31
HmEmE 2% | &1 | F | 11~127% | 100mEAX KL — |'1:156.91
N 2% | & | F | 11~125% | 100mfEAX L — |'1:14.55
PFFH ER 2% | & | ®F | 11~127% | 100mEAX FL— |'1:13.14
BH A 2% | & | F | 11~127% | 100mEAX FL— |'1:15.21
VNG 12 2% | & | F | 11~125% | 100mfEAX KL — |'1:13.08
(ER=RENS 2% | B | F | 11~127% | 100mEAX KL — | '1:14.54
=K E® 26k | & | F | 11~125% | 100mEAX KL — |'1:17.72
P BT 2% | & | F | 11~125% | 100mEAX KL — |'1:18.08
fRIRRIEH] 26k | & | F | 11~125% | 100mfBAX KL — |'1:13.85
2% ME 26k | & | F | 11~127% | 100mEAX FL — |'1:15.56
SRR} i 2% | & | &F | 11~125% | 100mEAX FL — |'1:10.88
GG S 2% | & | F | 11~125% | 100mEAX KL — |'1:13.30
/N FEiK 26k | B | TF | 11~127% | 100mEAX KL — |'1:12.54
AR Bk 2% | &1 | F | 11~125% | 100mEAX KL — |'1:11.07
HBHNHY 26k | &1 | F | 11~127% | 100mEAX KL — |'1:11.61
FREL DB 2% | B | F | 11~127% | 100mEAX KL — |'1:17.59
EEENAE 2% | B | F | 11~125% | 100mEAX KL — |'1:11.87
I FK 26k | &1 | F | 11~127% | 100mEAX FL— |'1:14.19
MR =E 26k | & | F | 11~125% | 100mfEAX L — |'1:13.02
Wl RE 2% | B | TF | 11~12/% | 100mEAX KL — |'1:12.57
28 2 26k | B | F | 11~125% | 100mEAX KL — |'1:14.10
NHEZETF 26k | B | F | 11~125% | 100mEAX FL— |'1:11.78
wE & 2% | B | F | 11~127% | 100mEAX KL — |'1:18.84
AHE A 2% | B | ZF | 11~125% | 100mEAX KL — |'1:12.99




